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What is the quotient?  cigmiidl zdki oo W 1
3. 914 +01= 4. 55.8 < 0.01=
5. 50.5 = 0.01 = 6. 332+ 01=
7. 16.4 +10 = 8. 444.8 + 100 =

Estimate the quotient. (=] =] | o 5 2

FE(O)
1. 4.42 +0.81=x Eyes: 2 358+57=d

3. 1973 +-321=¢ 4. 54+025=m
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¢ il Jod i) J Gt it Sl 92 0
Which is a reasonable calculated quotient for each expression?

5. 778 +-084=d 6. 234+32=s
A. 92 A. 73
B. 9.2 B. /3.3
C. 092 c. 703
D. 1.92 D. 780.3
7. 42+096=5b 8 132+74=p
A. 4375 A. 17
8. 33.75 B. 10.7
C. 43 G 1.2
D. 043 D. 170.3
; ’ (=] 6% (=] bt s _
What is the quotient? T Tsundl ki 00 Lo 3
(=13 ¢
3. 024 +8= 4. 063 +9=
5. 096 +6 = 6. 084 +-4=
7. .26 +7 = 8. 225+5=

9. 318+3= 10. 452 +-4 =
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Will the sum be greater than 1 or less than 17 Use the number line

and explain how you can use benchmark numbers to justify. 4'
3,2 3,1
R 2.5+7
<+ { > <+ i >
0 1 1 0 1 1
2 2
1,5 3,4
3 3 + 3 4 0 + 3
<+ I mg - { >
0 1 1 0 XL 1
2 2
(=] =]
FE(O)
[=]#%5%%:
Without actually calculating, use what you know about fractions to
estimate the sum. Gomtud| i Gl (o6 et 0 (0 k| (ol il (39
1 1 < :
1. = + 5 Explain your choice.

Circle the best estimate.

1
a. 3
1
b. 7
1
c. )
d. 2

®
>
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2. =+ LS Explain your choice
© 614 plainy '
Circle the best estimate.
R
v 2
b. 1
& 2
d. 18
(=] #5 =]
e. 20 1S
OF~8S %

el il ki il il ol ity Adabad| JoS]
Complete the equation using addends with like denominators.

1,3 2,5_

Fy

o=
|-
I
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Which multiple can you use as a like denominator to add
the fractions? Choose all correct answers.
2 3 1 3
1. 3t+t7 2. 5 + 8
A. 6 A. 12
B. 8 B. 16
. 12 C. 24
D. 24 D. 30

Complete the equation using addends with like denominators.

3,1 2,1,
3. g"‘l‘z—. -+ - 4. 3+6—- +




2023 - 20 Judsy 5 JSud dlicol

il ) i ) L il 3 Gt | JuoS]
Complete the equation with equivalent fractions that have
like denominators.

(050-150014 (SRR

5 1 _L 1 L | 2_3 .
1. e 2. 5= :

X
3

R St | 0 il | el | Sl 6 b0
What is the product? Use a representation to solve.

)

3 % 4= 5 wp=
1. gx4= 2. X5=




Complete the equation. adalad) Josi 9

11 i 2 7
y 3 X 5= = 2. 3 X S

X

2..4_ 3.4_

3 § X 6 = 4 7 X g =
: aEu =

9. Complete the equation. ¥ 0]

1 1

:
X3=722

1 1
1. 1§X15

=]

o

gl | Ju0l 6 b baid| Z 00 JuoS] 10
Complete the area model. What is the product? '

3 -
2. 17 X4=
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ol ) Sl ] ] Jila 0216 ]

What is the quotient? Use decimal grids to solve.

1. 365+7= 2. 453 +3=
3. 204+4= 4. 28+2=
[=]2#% =
HEO)
5. 30+3= 6. 69+3= s

7. 072 +8= 8 24=4=
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5. Use the decimal grids to solve -kl o | i S| 0 b

2.4 = 6 = d. (Lesson 8-3)

24+-6= OFA]0]

ARl oyl | 25k 0 k| 0 10 k] (S0 (3 il 0 b | i ] _
Rewrite the equation using multiplication by powers of 10. Then, 12
use partial quotients to solve.

% V8+12= 2. 518 +074 =

3. 276 +46= 4. N2+-16=




52,71+ 0.21 Ja @ chidbbil 10 S0 @ibuimi (ol yiuitd ]
14. Which equivalent expression

uses powers of 10 to help you
solve 52.71 = 0.21? (Lesson 8-6)

A. 5271+ 21
B. 5271+ 021
C. 527121
(5] #% (=]
D. 5271+ 21 FER(C)
OFzas %

10.

1"

12.

) g0 s 0 o 05 A1) 30 2 qUAT wiout 2 IS - Jod) Kagl) Jpdon il 5,5 3k ) 0 2 quart il s o8 1 3

Eddie had % quart of water for his soccer game. By half time, he

drank % quart of water. How much water does Eddie have left?

b said] (30 ot 05 .5 ylail] 3 gfoot S 5yl 3 ] i i

Isabel bought this sandwich. She ate g foot of |.< L ft >

the sandwich. How much of the sandwich is left?

fminad o] dds i 50 ST ) . 7 mile Ao ket 2l g o T mile Aol Gk s G st

"

Alan is walking on a path that is o mile long. He has walked

% mile. How much farther does he have to walk?




o Joaoll 27 miles agdi miyall di dyddl () 17 miles diy s &id13d (g 30 14

o] et itk Mot 65 il Bagdl 2 miiles Alaio i Guld (oo wiipid i3
10. Timothy rides his bike 1% miles to school. After school, he rides
2% miles to his piano lesson, then 2 miles back home. How many

miles does Timothy ride in all?

; (=] =]
HSsk0 D 0 0 i 05 .l 10 ] S35 ks S ra
w55
11. Marcus builds the body of this snowman. He then
builds the head. How tall is Marcus’s snowman? --"“""‘"’ib,

X/

l‘_wlm K
0o|— _’_|

12. Solve the equation. *eomal ] MbiS als] chiSad wiud o il EQae (b D123 ik Alalad) Jo
7 3
L L
4 07t 2 3 ="
What do you notice about the sum of the two fractions?
How can you rewrite the sum?




3 1

5 1 _
5 56—36—

1 1
7 65—35—

9 yid| 62 Lo

7 5 _
65 —5¢="7
5
- 124
1
B. 153
4
C. 157
2
(=% =]
HEL)
CIEZ 85 &
3 1
2e=15=
7 3
310 "8 =
S 1
§==3-=
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What is the sum or difference? Choose the correct answer. '

1. 52-32=2 2. 42+33 ="
A 24 A T
B. 12 B. 75
c. 23 c. 8%
D. 1 D. 85

(=] (=]
: ) FE(C) TR
What is the sum or difference? Fiafty: 9ldleaalioab

1 _a1_ 3. .2
3 6§—4§— 4. 34+53—
1 2 AL
5. 85—2-9‘— 6. 28+12—-
1 3 _ Y 4 S _
p 35—25— 8. 112+38_
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(TN COCT PYCCI NI DIV Y P
What is the product? Use a representation to solve.

11 5. 3
% 2><2_ 2. 6X5-
§ 2 3.,3_
3. gX3= 4. ZXg=
4 5 _ 7,1 _
5. §Xg= 6. gX3=

Chdbel ] 20w b (S| wigmall Jala 6B o
14. The area model represents what .

product? (Lesson 10-3)

X X

X
ol ol &lw n|w

© 0 ® »

Vs Bl= 0= b=
X
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18

03 inch azld Jola Gl guisd) Ao b o

5. What is the area of a square with side lengths of% inch?

6. A piece of paper is 1% inches long and 2 inches wide. What is
the area Of the piece Of paper? ?@,ﬁlw*um ‘__"-ﬂh .2inch Lh.‘a,sg li inchl.hlghal.h._t@,g.llmw

e (5 e G| (00t guid] 238 A2 s (R 0 g mile lghg ;mile 0 35 ki (mnl] 258 o (5o Ol G| (0.0 (=] =]
P

7. STEM Connection A geologist is surveying land EEESE

that is —i— mile wide by% mile long. What is the
area of the land the geologist is surveying?

8. The top of a table measures 1% feet by 2 feet.
What is the area of the tabletop? ¢ Alglall pdaet ddbeid b W0 .2 feet @ 1§feet alglall pdaa abeul gubed fubusi

| A (o b0 S0 - il A 59 - mile Aok il Julall £310 €300

9. A farmer plants crops in a section that is %—mile long by %—mile
wide. What is the area of the section?




il G SR G i 5 300 1R 2§timesh-iei-‘dﬁﬁ i 3 Sl R i 39 S 19

9. The weight of Natalie's backpack is shown. Her brother’s

backpack weighs 2;} times that much. How much does

Natalie’s brother’s backpack weigh?

65 Ib

S A i Sl £l 50 o e 5 0 1 times Gl ) £l g0 b 15 e’ s i it S sl i
. . : 1 .
10. The street Michelle lives on is 15 miles long. The street Lucas

lives on is 1% times as long as Michelle’s street. How long is the

street Lucas lives on? % E

2 times gumitl 138 (6 il . (ould! Egummi] S @LaD (30 3l 1 ot 5 il
g B 1 G U i S| it (30 M2y o5 il i (5 ] b0

11. Benson bought this much dog food last week. This week
he bought 2%times as much as last week. How many

pounds of dog food did Benson buy this week?

12. A rectangle has a length of 1 %yards and a width of 5 -J‘- yards. 4254 1 yards Juliess Joo

¢ ekt | A iy L .5- yards
What is the area of the rectangle? ’ +Y




1. Which fraction will resultina 2. Which fraction will result in a 20
. 8
product that is greater than %? product that is less than =7
3 8
g 7%
1 S
A. 3 A. E
1 12
B. 5 B. 6
5 10
s 8 03 ;
5 8
D. 2 D. 6
3. Which expression has a 4. Which expression has a OFEAlD
product that is less than product that is greater than L)
the first factor? Select all the second factor? e
that apply. x Select all that apply.
<CPDY1 i (ode 5404 ot ) 3c2c PPy
Ao A2 X 5 aareggll gatall go i Al TXT el
2 ek Lo JS 2 ¢ gl Joladl o S
B 35)(1 B. 1><75 i 5 S
1 3
C. 78 X s C. 26 X >
4 9
D. 26 X - D 10 X 5
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Solve each problem. Then, explain your solution. . geldll Jall gl pi alSie JS Ja 21

5. Darren has a cooler with 9 liters of lemonade.
He pours 0.3 liter of lemonade into each glass. How many
glasses of lemonade can Darren fill mll] s 0 il 5l O 3o oy i iyl
95 08 wifS S (P ol s o0 sl 0.3 it
sl LSk O S el et s S

6. Mr. Ramirez bought a watermelon that weighs 12 pounds for a
picnic. He cuts it into pieces that each weigh 1.5 pounds. g by el asall sl
How many pieces of watermelon can Mr. Ramirez cut? ahi o) akis Wyl Mo 12
dakai 5 Jhay 1.5 Wt S 93
st | ot Tl | o

chdadad ‘i et |3
7. A grocery store got a delivery of 24 pounds of almonds. .

They package the almonds into containers with 0.75 pound of ¥ 10

almonds in each. How many containers can they fill with almond ? [m]EE5E:
SO Gl (5l A 0 30 0 Wy 2 (o Ml S0 S
okl Lo it (guid| il 325 oS oIl (o JiB) 0.75 (ol LR JS

8. Melissa has $30 to spend on apples
from a local apple orchard. How many
pounds of apples can Melissa buy?

bl (30 U ols LR 15399 30 Wb bk [l
03] bt Gt L) 0 My 05 ok

$1.25/1b

10. A car drove 104 miles in 1.6 hours. If the speed of the car was
the same for the entire trip, how fast did the car go? How do
you know? 13 ket 1.6 () Jumo| 104 5 sl il
AL 1) J1080 U o B ] 6yt S
O el el (i 70 gl | 5 ol (S b




. 1 ; > X
10. Oliver uses = gallon of water for his outdoor plants. He 22

uses % gallon of water for his indoor plants. How many gallons
of water does Oliver use on all of his plants? o ) i o (o0 s il b
05 ekl i L) 30 gl i

2 i Gt bl o0 b sl 20 96
11. Heather uses 3 foot of yarn for her art project. She adds

1 .
another 7] foot to complete the project. How much yarn does

Heather use in all? ol L . ool LB g3t (3 Sl 0 Lok o
Ao 3 o0 i (S Sl 5laie b . 0k JuoSH (550
e 2,3 (=] % (=]
12. Error Analysis Mia found the sum of 5 + 7. Fa()
How can you help Mia correct her mistake? OFs 3
2x2 Px4_4  12_16 g MR
2Xx9 4x4 18 18 18 | b0 Sl cliSeys bl
What is the product? Use an area model to solve. 23
1 1 _ 3 1 _
3. 14><15— 4, 5)(42_
1 1 1 2
5. 33><12— 6. 24x23—
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